EETTIEERZ B G SPERHAR B HRETR
Rt 1 103455

#h 5 ARG (fTBGEREARE ) FIR

HASOR AR =18
IR 0 0
iAE] 0 0
©®E 0 0
B[] 0 0
e 0 0
i 0 0
FgER 0.00% 0.00%
% 18 FH 5 5 5T 2 e 2 AT FRA R R M T AR A TG FRARE B 8 -
= ETBUARBT AR
HASCE AR EM =1l
FIfiR 0 0
E] 0 0
BE 0 0
B[] 3 3
BRI 0 0
5 (DFFEH 0 0
o QAL REEAE 0 0
/Nat(142) 0 0
=T 3 3
BEE=R 0.00% 0.00%
SR (FIERFHE) 0.00% 0.00%




BRI EERFAIR

el il = {EHE (=t

il 0 0 0 0
i 0 0 0 0
e 10 5 1 16
iy —(IELR ok 4 0 0 0 0
. QiA%< REEA[E 3 0 0 3
/NEH(142) 3 0 0 3
= 13 5 1 19

fHR 23.08% 0.00% 0.00% 15.79%

R GOBRFTEEE) 23.08% 0.00% 0.00% 15.79%

* TIRHIRTESEE | 5 IR B R A 3308 | T RUE R FTaAlE B R R S8 5

4 O vl oy

P Evil H AL R =Fi

il 0 0 0 0

] 8 1 3 12

I 0 0 0 0

BEEFFH 0 0 2 2

=t 8 1 5 14
HEEE 0.00% 0.00% 0.00% 0.00%




KEHNHERZ B G SPEARFTAE R SETR
HRGEER 10341 A %S H

HJ5EBE (AT BGREARE ) FIA

HAh & AR =t
i 0 0
] 0 0
e 0 0
B[] 2 2
6] 0 0
= 2 2

g% 0.00% 0.00%

SOHE R ST AR 2 T EBERAE A I T AR TEGRAE S #E -
= FTBUAR AR

H A& AR LR =til
HLfE 0 0
| 0 0
e 0 0
vl 17 17
BEEE A 0 0
i (D& 0 0
o Q52 g E 2 2
/Net(142) 2 2
=t 19 19

HEg% 10.53% 10.53%
BER (HIERFESE) 10.53% 10.53%




BRI EERFAIR

il BRI EERE &Et
Ffi# 0 0 0 0
] ] 2 0 3
] 45 31 ) 78
hﬁ m%ﬁ%%ﬁ 3 5 0 8
/NEF(142) 16 10 2 28
=1 62 43 4 109
R 25.81% 23.26% 50.00% 25.69%
B (FURFEE) 20.97% 11.63% 50.00% 18.35%

¢ THRHVHTEE TR | FEIRET B R A3 3 R0 TR E ST A R B G fR Hp ss 15
TR ) RS R oy BRI o e < ZE

== (T BUARR A

P Evil H AL R =Fi

il 0 0 0 0

el 26 8 9 43

160} 0 1 0 1

BEEFFH | 0 2 3

=t 27 9 11 47
HEEE 0.00% 11.11% 0.00% 2.13%




